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Write each array as a multiplication problem and solve.

Rewriting Multiplication Problems (visual)

Name:

Answers

Ex) 000000000 1) 0000000 2) AAAAAAA
QO OO OHOOO QOO0 OO AAAAAANA _
Ex. 10x10=100
QO OO OHOOO QOO0 OO AAAAAANA
QO OO OHOOO QOO0 OO AAAAAANA
QO PO OOOD COOOOO0 1
QO PO OOOD COOOOO0 )
QOO OO HOOO D CO OO0
QO QPP OOOOOP CO OO0
000000000 0000000 2
QO OO OHOOO QOO0 OO
3.
4,
3) o 4 B8 5 000000
O #2 ©00000 5
O BB 000000
O BB
o ey 6
O p-y-
O s B2
O p-y
= 7.
O
8.
9.
6) w® 7) 90 g # s IS
* ¥ o ke W NN K 10.
w R (OR®)] V4
9 Q9999 10) XXX X X X X X X 1) €C€CCCCCC
VAVEVEVEV/ XERXXXXXXX €KL
VAVEVEVEV/ XXXXXXXXX €KL
(VAVAVAVAV/ XXXXXXXXX
(VAVAVAVAV/ XXXXXXXXX
XXXXXXXXX
HXEXXXXXXX
HXEXXXXXXX
XEXXXXXXXX
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Write each array as a multiplication problem and solve.

Rewriting Multiplication Problems (visual)

Name:

Answer Key

Answers

Ex) 000000000 1) 0000000 2) AAAAAAA
LGV RO R L ) COO0000 0 AAAAAAA —
Ex. 10x10=100
LGV RO R L ) COO0000 0 AAAAAAA
LGV RO R L ) COO0000 0 AAAAAAA
QOO0 OOP G000 OO0 —
1. 10x7=70
QOO0 OOP G000 OO0
QOO O0COOGOD COOOO0O90
QOO0 OOOO CO OO0 OO 5 Ax7=28
QOO OOOO COOO0O0O0 '
LGV RO R L ) COO0000 0
3. 10x6=060
4. 8x2=16
3) o 4) 28 5) 000000
O B8 000000 5, 3x6=18
O B g 000000
a B g
- £ 6.  6x2=12
O 8B
O BB
= rs 7. 5x2=10
a
a
8. 5x7=35
9. 5x5=25
6) WX 7) 90 g # s IS
LA o0 SN 10. O9x9=81
* % 00 HHRHYHHNH
LA o0 NN
w R o0 N AN HNI 11. 3x8=24
W
9 Q9999 10) XXX X X X X X X 1) €C€CCCCCC
\VAVAVAVAV/ XXXXXXXXX CcCcCcCqCCcC«
\VAVAVAVAV/ XXXXXXXXX CcCcCcCqCCcC«
\VAVAVAVAV, XXXXXXXXX
\VAVAVAVAV, XXXXXXXXX
XXXXXXXXX
XXXXXXXXX
XXXXXXXXX
XXXXXXXXX
1-10 (9182|7364 [55|45|36|27|18]| 9
M ath 5 [73]64]55[45[36[27]18] 9 |
www.CommonCoreSheets.com 11 10




